
                                          Money Problems


1.I buy a pen for £1.70 and a notepad for 3.20.How much have I spent altogether?  
-I have spent altogether £1.70 +£3.20=£4.90

2.I buy three cakes for £1.86 each.How much have I spent altogether?  
-I have spent altogether £1.86+£1.86+£1.86=£5.58

3.I bought one bike for £39.98 and one scooter for  £9.78. How much have I spent altogether?
-I have spent altogether £39.98+£9.78=£49.76

4.I bought two pairs of socks at £2.21 each and three bunches of flowers priced £4.70 each. How much have I spent altogether?
-I have spent altogether £2.21+£2.21=£4.42 and £4.70+£4.70+£4.70=14.10.Altogether £14.10+£4.42=18.52

5.I bought two jumpers priced at £15.60 each and four lollipops for 30p each.How much have I spent altogether?
-I have spent £15.60+£15.60=£31.20 and 30p+30p+30p+30p=£1.20.Altogether £31.20+£1.20=£32.40.
6.Sam and three of his friends bought a drink each for £1.75.How much did they spend in total?
-They spent altogether £1.75+£1.75+£1.75+£1.75=£7.00.

7.I bought one jumper for £13.00,one pair of shoes for £24.39 and a bag for £12.50.How much did I spend altogether?
-I spent altogether £13.00+£24.39+£12.50=£49.89.
